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Workshop: Reasoning from Known Facts SAB • Grade 3 • Unit 2 • Lesson 7

 5. Frank solved 14 – 8 this way:

  “I thought about addition. I know 8 + 6 = 14. So 14 – 8 = 6.”

  Do you agree with Frank? 

  If not, show or tell how you would help Frank.

 6. Show how you can solve 15 – 7.

Thinking Addition

Check-In: Questions 7–9

 7. Natasha solved 24 – 9 this way on the 200 Chart.

  Do you agree with Natasha? 

  If not, show or tell how you would help Natasha.

▲ ●

▲ ●

▲ ● ■

1 2 3 

19 20 11 12 

21 

40 

13 14 15 16 17 18 

9 10 4 5 6 7 8 

29 30 24 25 26 27 28 

38 39 33 34 35 36 37 

22 

32 31 

23 

24 – 10 = 14
14 – 1 = 13
24 – 9 = 13

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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SAB • Grade 3 • Unit 2 • Lesson 7 Workshop: Reasoning from Known Facts

 8. Solve 24 – 9 another way.

 9. Yolanda solved 12 – 7 this way. Help Yolanda complete her strategy.

  She started at 7 and counted up on the number line.

 10. Show how you solve 13 – 5.

▲ ● ■

▲ ● ■

▲ ●

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

12 – 7 = 

7 +          = 12 

7 +          +         = 12 

make ten

+3 +2

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20
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Workshop: Reasoning from Known Facts SAB • Grade 3 • Unit 2 • Lesson 7

Using Tens with Larger Numbers

11. A.  Solve each problem in the table. Write a number sentence that
shows your strategies.

B. Describe the pattern you see for subtracting 10.

C.  How are the answers for subtracting 9 different from the answers for
subtracting 10?

12. Solve each problem in the table. Write a number sentence that shows
your strategy.

▲ ●

▲ ● ■

Subtract 20 Subtract 19

Number Number sentence Number sentence

22 22 – 20 = 2 22 – 20 + 1= 3

25

33

37

Subtract 10 Subtract 9

Number Number sentence Number sentence

22 22 – 10 = 12 22 – 10 + 1= 13

25

33

37



70

C
o

p
yr

ig
ht

 ©
 K

en
d

al
l H

un
t 

P
ub

lis
hi

ng
 C

o
m

p
an

y

Name  Date 

SAB • Grade 3 • Unit 2 • Lesson 7 Workshop: Reasoning from Known Facts

 13. Michael had a collection of 16 marbles. He lost 9 marbles. How many
marbles did he have left? Michael started to solve the problem below.
Help him complete his strategy. Show Michael’s solution strategy on
the number line.

Check-In: Question 14

 14. Show how you can solve 33 – 13 on the number line.

 15. Show how you can solve 33 – 14 on the number line.

 16. Richard solved 33 – 14 this way. “I know that 33 – 13 = 20,
so 33 – 14 = 21.”

  Do you agree with Richard? 

  If not, show or tell how you can help Richard.

▲ ●

▲ ● ■

● ■

● ■

10  11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20

16 � 10 � 6

16 � 10 �           � 7

10  11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35
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Workshop: Reasoning from Known Facts SAB • Grade 3 • Unit 2 • Lesson 7

17. Show how you can solve 30 – 19 on the number line.

Thinking Addition with Larger Numbers

Check-In: Question 18

18. Carla started to show how she solved 30 – 17. Help Carla complete her
strategy below on the number line. She started at 17 and counted up.

19. Show or tell how you solve 42 – 16.

■

▲ ● ■

● ■

10  11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35 36 37 38 39 40 41 42 43 44 45

10  11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

30 � 17 �

17 �           � 30

17 �          �         � 30 

make twenty

10  11 12 13 14 15 16 17 18 19 20 21 22 23 24 25 26 27 28 29 30 31 32 33 34 35

+3


